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file6 1.m Z#ZE{T

omega n=1;
zeta=1;

P _nom = tf(omega n"2,[1 2*zeta*omega n 0])
K=1;

W2A = tf([zeta 0],[1 omega n));
D = ultidyn('Delta',[1 1]);
T = feedback(P_nom,1);

figure(1)

nyquist(P_nom*K*(1 + W2B*D))
figure(2)

hold on

bodemag(TA)

hold on

bodemag(1/W2A)
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file6 2.m ZFZE{T

omega n=1;

zeta = 1; wn = 1, Czl
P(s) = —2
P nom = tf(omega n”"2,[1 2*zeta*omega n 0]) —
K 1: s(s+ 2Cwn)
K(s)=1
W2B = tf([5*zeta 0],[1 omega n]); 5¢s
WQB (S) =
D = ultidyn('Delta',[1 1]); ST Wn
TB = feedback(P_nom*K,1); T(s) = P(s)K(s)
14+ P(s)K(s)
figure(3) 3
nyquist(P_nom*K*(1 + W2B*D)) Pg = (1 + A(S)WQB (8))P(S)K(S)
figure(4)
hold on
bodemag(TB)
hold on
bodemag(1/W2B)
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[F2RE1]) PHIEN (KP 1217 T, KD =0, KI = 0)TANRMEELKPE
. 1

BEZ, TAXTARENES, TABE(T(s), Wl )T talts

K = tf([KD KP KI],[1 0])

K nom = 10;

T nom = 0.0933;

P nom = tf(K nom,[T nom 1 0])
W2 =0.065*tf([0.5 1],[0.12 1]);
D = ultidyn('Delta’,[1 1]);

T = feedback(P_nom*K,1);
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Z, TAXT AN, T AR
% __________________

KP = xxxxx;

KD =0;

KI = xxxxx;

% __________________

K = tf([KD KP KI],[1 0])

K nom = 10;

T nom = 0.0933;

P nom = tf(K nom,[T nom 1 0])
W2 =0.065*tf([0.5 1],[0.12 1]);
D = ultidyn('Delta’,[1 1]);

T = feedback(P_nom*K,1);

ooooooo
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